2.275
2.275
2.275
8.900
9.173
8.917
2.277
8.915
8.900
2.317
2.277
2.277
2.277
8.900
2.274
1.060

FIND INDEX

1986-1987 G GENERATOR MOUNTING-3.8L V6 (LC2/3.8-7)

GENERATOR , REMAN (120 AMP) (1986)..........vveerveieeeeereseeeeseessssseseseeeseessseseseeesee.
GENERATOR , REMAN (120 AMP) (1987-15" DES)(STMP 1101183)..........covvevvverneen..
GENERATOR , REMAN (120 AMP) (1987-2ND DES)(STMP 1101349) .
BOLT , HFH (M10 X 1.5 X 50) PZOR.........vveeeveereeeereeereeeeeseeseeeseeesseessseeseeeseessseeseeeseesee
STUD , CMPR ..ot

NUT , HFH (M0 X 1.5) POR ......cvereeeeeeeeeeeeeses e eeeeeeeeeseeseeesseeeseeeenes

BRACKET , GEN RR GEN TO EXH MANIFOLD STUD ........coovevvrerrenns

NUT , HEX (M8 X 1.25 X 7.8)(W/CAST IRON HEAD) ........cooorverrrerrrnn,

BOLT , (10 X 1.5 X 120 .eooveevereeeeeeeeeeeseeeseeeesseeseeeeeeseeeseeeseseeessenesnnes

BRACE , GEN BRACKET (B.606).........cecvvereeereeeeeseeeseeesseesssessssseesnnes

BRACKET , GEN & A.C. CMPR & P.S. PUMP ........ccoocovivmrvmiioirinn,

BRACKET , GEN TO A.C. CMPR.......ceooernneen..

BOLT, GEN (M10 X 1.5 X 40)(9.171).....
BOLT , HWH (M10 X 1.5 X 25) ...,
STUD , GEN oot e e ee s
TENSIONER , DR BELT .ot e e eeeeeseeeseeeses e eeses e e es e eseeeseee e

2-24

10497176
10463207
10463095
14089221
25525502
11506101
25525205
25521550
11508303
25525428
25525338
25525203
14050422
11508931
25525191
25526387



